Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

b 43 x 55 =

2) 50 x 53 =

3)

6)

9)

12)

92x51=

Answers

10.

11

12.

’ ’
’ ’
’ ’
’ ’
’ ’
’
’ ,
’ ’
’ ’
’ ,
’ 7
’ ’ P
’ ’ ,
’ ’ ,
’ ’ ,
’ ,
4 ’
4 ’
’ ,
’
’
’ d
4 ’
’
. ’
’ ’
’ ’
’ ’
’ ’
’ ’
,
’ ’
’ ,
’ ’
’ ’
’ 7
’ ’ 7
’ , ,
’ , ,
’ ’ ,
’ ’
4 ’
4 ,
4 ’
/ ’
’ e
i ,
’
. ,
’ ’
, ,
’ ’
, ’
, ,
’
, ’
, ’
’ ,
, ’
’ 7
’ ’ e
, ’ ,
’ , ,
’ ’ ,
, ,
,
’ L
4 ,
’ ’
’ L,
i ’
’
. ’
’ ’
, ’
, ’
’ ’
’ ’
,
’ ’
, ,
’ ,
’ ’
’ 7
’ ’ 4
’
’ ’ ,
’ , ,
’ ’ ,
’ ’
,
, L
4 ,
’
’
’ e
’ ,
’
’

[ M ath ] www.CommonCoreSheets.com

1-10
11-12

92

83

75]67]58|50(42]|33]25] 17|




=

Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
43 x55= 50 x 53 = 92x51= N 2,365
4 3 5 0 9 2
1 10 1,7
2 5 2/,’ 5 4 ’/,' 5 2 2,650
5 0 5 5| 5 0 4 5.7 0
2 1 1 o 0 o . 3. 4,692
0 5[ ° "5 ol° o 2|*
3 6 |. i 6 L 4 3,212
6 5 5 .0 9 2
5. 1,140
4) _ 5) _ 6) _
73 x 44 = 20x 57 = 97 x90 = 6 8,730
7 3 2 0 9 7
1 210 6
2 4 1/,' 5 8 /,’ 9 7 5,022
3 8 2 170 0 3 1| 3
2 1 1 o 0 0o 8. 3,276
8 2| 4 ol’ ol ol
2 1 1.7 ) 7
¢ ; 0. 1,219
1 2 4 . 0 3 0
10, 3,034
7) 8) 9)
81 x62= 91 x36= 23 x53=
1. 9,306
8 1 9 1 2 3
4 0 6 2,’, 0 3 1 1 5 |l 12 4.628
5 8 6 3 |77 3 1 0l|.”
1 0 A5 o 0 0o .~
2 6 23
0 6 2 7 ) 6 2 6 ,," 9
2 2 7 .76 1 9
10) 74541 = 1) 99x94= 12) 5yxg9=
7 4 9 9 5 2
1 8 1,7
2 4 8 9 4 ek
3 8 6 9| 1 1 4 ol 6
0 0 13 73 4 1 7
1 4 |9
0 7 4 3.~ 6 6 6 5 ’," 8
3 4 0. 6 2 8
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